Pre HL:: The Sum and Product of the roots of Quadratic Equation. Notes: September 8

Warm UP

Find the discriminant and hence find the values of w for which the equation, 2x” —Sx+w =0 has
i) a repeated root ( one solution), ii} 2 distinct real roots, and iii) no real roots
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—b++b* —dac

then x = ~ M
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You know "If ax’ +bx + ¢ = Owhere a =0,
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Find x, +x, (sum of the roots)
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Find x, « x, (product of the roots)
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Let's apply what you have learned.

Ex1) Find the sum and product of the roots of 25x% —20x +1=0. Validate if your answer by solving the quadratlc
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Ex2) The quadratic equatlon 4 k=-3x+(2-k)= 0 has one root which is three less than other root. Find all
possible values of k and the two roots.
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Practicel) 3x* +x—1=0 has roots pand q. Find p* +¢ .
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Practice2) The quadratic equation ¥+ (k-12)x+(k+7)=0 has the roots of consécutive posmve integers. Find

possible values of -k and the two roots.
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